Geometry 1
Name:        
Worksheet:  Linear Measure #1
[image: image1.wmf]AB

=

1.
Towns A, B, C, and D are located along a certain highway.  The distances between the towns are indicated:

A new hardware store is to be built somewhere along this highway so that the total of the driving distances from these towns is minimized.  Where should that hardware store be located?          
2.
Towns P, Q and R are located along a straight highway, with Q between P and R.  The distance from P to R is 7 miles less than three times the distance from Q to R, and the distance from P to Q is 20 miles more than the distance from Q to R.  How far is it from town P to town R?          
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3.
If AB = CD, AC = x, BC = 5, BD = 2x – 7,


 then AD = ?          
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4.
Which three points in the figure on the right


are collinear?
5.
In which of the following diagrams is it NOT true that AB + BC > AC?           


A.
B.




C.
D.

Problems 6-9:  Find the perimeter of each figure.  Be sure to include units in your answers.


6.

7.



perimeter =        

perimeter =        


8.
9.

perimeter =        
perimeter =        
Problems 10-13:  
Plot the two points.  Then give the length of the segment connecting those points.


10.
A (3, 8),  B (3, –2)


Length of 
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11.
C (–7, 5),  D (–2, 5)


Length of 
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12.
E (–4, 3),  F (–10, ​–5)


Length of 
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13.
G (–5, –4),  H (7, –9)


Length of 
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Problems 14-17:  Find the exact value of x.


14.          
15.          

16.          
17.          
Problems 18-20:  Simplify the square roots (do not give approximate values).
18.
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19.   
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20.  
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Problems 21-25:  Use the Pythagorean to solve.

21.
The front of a warehouse is 50 feet long.  The roof beams are each 26 feet long.  How high above a horizontal rafter is the top of the roof?          
22.
A door is 7 feet tall and 4 feet wide.  To be sure the door is “squared up” a carpenter measures a diagonal.  How long (to the nearest tenth of an inch) should the diagonal measure?          
23.
Each of the three sides of an equilateral triangle measure 2 feet.  If the triangle is cut in half by drawing a line perpendicular to a base, then what are the lengths x and y in inches of the legs of one of the two resulting triangles?          
24.
Rhonda wishes to drive from city A to city B, a distance of 106 miles, but decides to go through city C on the way.  City C is 90 miles due north of city A, and city B is directly east of city C.  How much out of the way is the trip from A to B via C rather than straight from A to B?          
25.
A bridge is exactly one mile long.  It was built in the winter, and the stupid engineers did not allow for expansion of the road on it.  In the summer this road expanded by a total of 1 foot and buckled in the middle to form two right triangles.  How high above the bridge was the middle point of the road?          
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